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H & 0l & AHS B Ml A

M ZAZEE L
M AT TJAAY EE
SRl ZAIHAEAIY =& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAZEE M 9,338,274 16,820,259 6,481,985
e ALY =& 307,621 290,951 16,670
SAITHEALY =& 307,621 290,951 16,670
CAIHEAIY 283 2?13 29 307,621 290,951 16,670
201 fer= 3| 163,580 146,000 17,580
01 At 2|l 163,580 146,000 17,580
OSANMYEI 24 S|
123,380,000 123,380
OEAMRAR S 2 10,000,000& 10,000
OEAIMEHI?IA2 2Y 10,000,000 10,000
OZAMY mEAE S2 29
12,000,000& 12,000
OSAIHMEASY X242 2,000,000 2,000
OZANEAIY 2N 2 & H2A=
MRS 6,200,000& 6,200
202 04t 116,681 116,001 590
01 =LHOHI 7,681 7,091 590
OFAMEAIY gF8 Ot
3,491,000& 3,491
OEAITHMEZIF 28d O]
4,190,000 4,190
03 =20 109,000 109,000 0
OSATMESI} 24 2el0it|
109,000,000 109,000
203 HR=AH] 26,160 26,160
03 A=A PR FA| 26,160 26,160
OZAR TATHMAIY =7
12,560,000 12,560
OZANY mEAY =& 9,400,000 9,400
OZAIHEAIS =&l 4,200,000 4,200
301 LEtE N = 1,200 2,700 21,500
11 #AIAMHIXIZ S 1,200 2,700 1,500
O=AIMY -3t X2 1,200,000& 1,200
AH =S 3 42,470 43,842 A1,372
J12ZH(SAIZEE =) 42,470 43,842 A1,372
2A24H| 42,470 43,842 A1,372
201 er23 | 21,110 22,026 2916
01 At2teltl 21,110 22,026 N916
ORNEg=+3HI 14,900,000 14,900
OJlzge-4d Setl 6,210,000& 6,210
202 04| 10,560 11,016 AN4%6
01 =LHOHI 10,560 11,016 A456
OJl=gf=d 0| 10,560,000& 10,560
203 g4l 10,800 10,800 0




M ZAZEE L
BH: syeAAy|
el JI=ZH(SAZEE D) (S ® )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 J|2=2gdR=aH] 6,600 6,600 0
o= 6,600,000 6,600
MU A2 LRFAI 4,200 4,200 0
ORANEgg =AY 4,200,000 4,200
HeEsS(ZSAIZEZHY) 8,988,183 15,485,466 6,497,283
WA XIE 8,988,183 16,485,466 6,497,283
JIEtZI AN ES 8,988,183 16,485,466 6,497,283
701 JIEtRI HSHES 8,988,183 16,485,466 6,497,283
01 It AN ES 8,988,183 16,485,466 26,497,283
Od=HEdaASEH HE=
8,988, 183,000& 8,988,183
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H & 0l & AHS B Ml A

20248 =0ila eI S

SM FHEHID
Ha: CA o EHSAT
Q

=Rl ZAl & FHEREEY = (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FHEBI 36,688,700 27,664,379 9,024,321
CAl & FHE3 8 176,070 23,625 152,445
CA® FAEEEH A 176,070 23,625 152,445
CAl & FHEEd8 =0 18,570 23,625 A5,055
201 fer= 3| 10,740 15,795 A5,055
01 At 2|l 10,740 15,795 A5,055
OZAl & FAHBIFY| =&
10,740,000 10,740
202 04l 4,230 4,230
01 2LHoIH 4,230 4,230
OXAl & F=HEZEH =8
4,230,000& 4,230
203 =] 3,600 3,600
03 A= PR FA| 3,600 3,600
OEAl & F=HeF 8| =4
3,600,000& 3,600
Al & FAHEZEH =) 157,500 0 157,500
308 XXM SOIA 157,500 0 157,500
01 AXEH B2 LS 157,500 0 157,500
OBIEEHIAIY EX(R5610t BIE)
157,500,000 167,500
HH 23 25,280 30,754 NDb,474
[2ZHI(=HAZH2) 25,280 30,754 N5, 474
fA2EH| 25,280 30,754 N5, 474
201 2= 15,020 18,203 A3,183
01 At22t2lt] 15,020 18,203 A3,183
SEM2E+=EH] 6.,380,000& 6.380
OJlzge-daegtl 8,640,000 8,640
202 04t 6,660 8,351 1,691
01 =LHOHI 6,660 8,351 1,691
OJl2g =80l 6,660,000& 6,660
203 =4l 3,600 4,200 2600
M FA2SHIFII 3,600 4,200 2600
ORMEEE =2 3,600,000& 3,600
HWRES(F=HFEHIM) 36,487,350 27,610,000 8,877,350
WA XIE 36,487,350 27,610,000 8,877,350
SA 2 =HE3EEDIE dEs 36,485,150 27,610,000 8,875,150
R JIsdEs 36,485,150 27,610,000 8,875,150
01 JIsdEs 36,485,150 27,610,000 8,875,150
OZANEFHeBFEDIs dEs
36,485, 150,000 36,485,150
=32 A 2,200 0 2,200
701 JIEHRI NS EES 2,200 0 2,200




SN ZEATHIB
B2 YRES(FNEHID)
S ERVESTEE

S - B - SRA(SIH) - HSAY - BYS of et o
01 JIEt=I AN ES 2,200
O3 EdaSgeH dEs

2,200,000 2,200
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